The reading passage and the lecture hold the conflicting opinions about whether the bees existed on Earth as early as 200 million years ago. The passage argues bees did not exist at that time. However, the lecture disagrees.  

First, the passage claims that fossil remains of actual bees have never been found 200 million years ago. However, the lecture argues that though it is ture but it not the reason-but it is not the reason why bees did not exist at that time, since the preserve-preservation of the fossil need-needed a kind of –sticky- liquid produced by trees. We can-can’t find the fossil of the bees may , because there is-were almost no trees produce-producing the right kind of–sticky-  liquid.  

这个段落丢失了一个细节，这个细节的出现会令作者的综合写作细节更加充分。The trees that produced such liquid were quite rare during that period and only flourished much later.
Second, the reading passage suggests that bees can not existed – could not exist 200 million years ago because of the absence of the flowering plants. Nevertheless, the lecture dose not follow it. The lecture claims that the early bees feed-fed on nonflowering plants. It is after the trees-flowering plants evolved that the relationship between bees and the flowering plants become-became stable.

Finally, the reading article states that the fossilized structures lack some details of the nests. However, the lecture refuse-s it by claiming –that –

the chemical material is the evidence to prove 
chemical evidence 不等于chemical material改为
there’s chemical evidence that the bees are –built (此处的错误为典型的失之毫厘差之千里，蜜蜂变成了它所建筑的对象！！！！！) the chamber. During a chemical experiment与原文中的fossilized chambers were chemically analyzed不是同义替换，表达不准, we could find that there exist the same （这个same是和誰对比出来的呢？） water material used by medern-modern bees.
这一段的细节呈现的比较混乱。同时，有关键细节遗漏：Modern bees use a special waterproofing substance with a distinctive chemical composition to protect their nests.建议重新听音频。 
整体修改意见：
1.粗心导致的所听懂内容呈现过程中的严重错误：

可以看出来，作者听懂了听力内容，这是很难得的。但是在写作的过程中，经常出现较严重的错误，如红色部分所显示。尽管有些可能是作者的粗心与笔误，但是这些错误的代价是巨大的。
2. 同义替换导致的失之毫厘，差之千里。这一点应该并非作者有意为之，需经过教师指出并做练习调整。
